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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct, fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question.

te ol Ul 2 adtbxte =0 ahiabledo 1/7{)';"5

The number of terms in a Standard Quadratic Equation ax2+bx tc=0 is : (1)

4 O 3 (@ 2 (B 1 (A

a;Cube Roots of "-1" are : Ut _,,ﬂ“, oyl " (2)
C1ewewt (D) -1, -w, W (Q) -1,w, -wE (B) -1,-w,-w? (A)

Two Square Roots of Unity are : U (‘j/lzjg » L J(l 3)
o w,w (D) 1,-w (Q 1,w (B 1,-1 (A)
‘In a Ratio x:y,"y" is called : !c;-lr'lk'("y"u: x:y=dl (4)
| Proportion ~¢ (D) Consequent H:d/u (C) Antecedent f?d{s{ (B) Relation Jg (A)

If U o< V°, then : LUV A5
] w? =1 D) UV’ =K (O U= KV B U=V (a)

ll’arhal Fraction of Lzz are of the form : (f J,, J r:' 1 f— AT J LZZ (6)
f (x +1)(x" +2) (x +1)(x" +2)

i

TR O AR o g e m A W

The different number of ways to describe a set are : : §_(3n A3 U LiJo S or (7)
1 O 3 ©Q 2 (B 1 (@

If AcB then A-B is equal to: PelbndsA-B M ACB Jio®

B-A D) B (© ¢ (B A (4
1 A Frequency Polygon is a many sided Ju»l{’uf&llﬂw/f G i (9)
Closed Figure (,py (D) Triangle &J* (C) Rectangle L)A/ (B) Square d/ (A)

et 26 adend v 2 2kl (10)
The measure which determines the middlemost observation in a Data Set is called

Average L (D) Mean le(}l) (C) Mode »bk (B) Median 2l (A)

Sec’e = Sec?0 = oo 1 (1)
1-tan’® (D) 1+ Cos’® (C) 1+ tan’® (B) 1- SinZ® (A)
A Chord passing through the Centre of a Circle is called : e b 5 i o S Lot (12)

Secant 58 (D) Diameter A (O Circumference k% (B) Radius v (A)
B SEELr AeLe K P p o (13)

A Line which has only one point in common with a circle is called :

Cosine of a Circle Cosine § ¢ 7 (B) Sine of a Circle Sine ¥ < 7 (A)
Tangent of a Circle Tangent ¥ < 7 (D) Secant of a Circle Secant ¥ < 71y (C)
g

u'Lu ¥ e tb - e bl il ¥ 60° 1 n m,éu ek (14)
A 4cm long chord subtends a Central Angle of 60°. The Radial Segment of this circle is

2 DO 3 ( 4 (B 1 (A
A Line Intersecting a Circle is called : : lgtlkfbbf(‘f’flg_jb (15)
Sector £ (D) Chord 3 (C) Tangent UV (B) Secant &6is (A)
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It is compulsory to attempt (6 --6) parts e
while Q.No.9 is compulsory, Write same

Note : ach from Q.No. 2,3 and 4. Attempt any (03) questions from Part II
Question No.and its Part No. as given in the question paper.

36=2x18 Make diagram where necessary. -u:’!z&fnduful{z ]

(Part1) Jslo

Define Reciprocal Equation.

) 8 enu ) 24y

Solve. x2 +2x-2 =0 -é‘)’ (ii)
Solve by Factorization. 3y2 =y(y-5) -éd'dyig/% (iii)

_Efi:..‘»i{rL:’IJJu L 16x2-8x +1=0 ehble@nn (iv)
Discuss the nature of the roots of the Quadratic Equation 16x2- 8 +1=0

Write the Quadratic Equations having -1,-7 roots. -é;‘l’a u.’.."l;l/ s 9 dw‘s/ -1,-7 (v)
; -1+4C -1+4-3 .
Find w2 y if w= “23: -’é’:r:l” w2 o W= - fl (vi)
Find a Fourth Proportional to : 4x4, 23 , 18x° -".ci:r:"“__/t;li'f, (vii)

Find a Mean Proportional between : 20,45 _ér)l" Gl 3 Jas g (vil)
AA=T2 L ZE ' o r =3 2A=2.4 A oaiz A (@)
If A ec—=

3 and A =2, whenr = 3 find 'r'when A =72 T
r

Define a Rational Fraction.

ZEF S S o Ay

x - 11
Resolve into Partial Fractions. (x-4)(x+3) -’Z:y U U G (i)
Define One - One Function. 2§ Foyses (iii)
« +
If X=@and Y=2" then find"XUY" . & xuY"I Y=2" 4 X=¢ J v

A X={x|xisprime A 8< x <25}¢ U={ x| x&N A 3< x 225 } S
i (xnY)7 Y= {x| xewa 1< x <17}
If U={ x| xXENA 3< x_<_25},X={xlxisprime/\ 8 < x < 25}and
Y = {x I'x€é W A 4<x 5_17} then find the value of (X(\Y)/
e g 6 s ELxM 3 M={ d,ef,g}s L={a,b,c} J
If L= {a,b,c} and M = { d,e,f,g} then find Two Binary Relations in L x M.
11500, 12400 , 15000 , 14500, 14800 _'jé(}'*uf u_rérd: (u:z'_u)u_ﬂf g u‘wég (vii)
The Salaries of Five Teachers in Rupees are given. 11500,12400, 15000, 14500 , 14800 Find Range.

Define Arithmetic Mean. _2{4{/ J Jv:".dl) (vii)
Define a Frequency Distribution. : _g_‘:‘_{,/ J r‘:‘dd)ﬂ" (ix)
Prove that : (1-Sin°©)( 1 + tan’®) =1 D et ) 4y
What is the Sexagesimal System of Measurement of Angles? i“g[frl&i ¥ oLl ¢ Ly."}l!u!."'f. (i)
Convert 7—’8'.—(Radians to Degrees. -”<£J../?U:L5/f5 e L’[:‘;J 7%8[_1’_ (i)

( 7'ﬂ'=/€ 35 )_4‘:,/'{ 100 ¥ 7 2 b SE Lo S tﬁ/€ 3:5:/ o ‘_,g (iv)
In a Circle of Radius 10 m, find the Distance travelled by a point moving on this circle,
If the point makes 3+ 5 Revolutions (3 +5 Revolutions = 7’I1')

Define Direct Variation,

P S end W
mLA = 60° ) mAC = 4cm,mK§ = 5cm & 2_-"7(:]"*‘ mBC (* ABC &{1 (vi)

In a Triangle ABC, calculate mBC when mAB = 5¢m , mAC = d4cm and mzA = 60°

Divide an Arc of any length into two equal parts, _g{(:y‘_;.‘.'u:";u » S J}L_ﬁ g JUUI (vii)

Locate the Angle—60° in xy - plane, _éﬂlﬁu.’d:"*‘ xy.v(—-(i()0 2310 (i)

Find Mean Proportional to 49 and 16. S kit i gﬂf__l.f._z.{'"fl_g:(ix)
P.T.O. i J
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4) Solve. ot =0l 4 2 ) sAdy

o

Lgﬁud:gﬂ)f-b’uju£x2+(3k-7)x+5k =0 gbl/ﬁér}”;‘g(f . LN

) ot 3 N

Find the value of "K", if sum of the roots of the equation X+ (3k-7)x+5k =0

is —g— times the product of the roots.

3yz z -3 3 Lo g
7 NEeed 5 - T2 L M dbS s () oAl

4 =
& * Y= x + 3y X

x=3y x+3z
x+3y x-3z

Using Theorem of Componendo - Dividendo, find the value of

3
if x= yz
y-2z
2
(4)  Resolve into Partial Fractions. % _g‘ﬂ? o 1/6:2 ()
‘ (x+2)°(x+3)

@ u={1,2,3,4,~—,10 } , A={1,3,5,7,9} wB=1{1,4,7,10} SN 14
(A-B) = AUB J &es
f u=1{1,2,3,4,—,10},A={1,3,57,9},B=1{1,4,7,10}
Ve 7/
then verify (A-B) = AUB
@) “BE P Uil T -iditn (UisuttF § oSGl ()
11500 , 12400 , 15000 , 14500 , 14800

The Salaries of Five Teachers in Rupees are as follows:

11500, 12400, 15000, 14500 ,14800 Find Standard Deviation.
a . Sec® +1  SecO + 1 . y 5
(4)- Verify the Identity. \ l SecO-1 _ Tano -.in.r.b S =L s Ve g

0) unl g S dsi U Z 600,_,111' 2 :_u.’r.n.eS‘_ s e (L)
Draw Circles which touches both the arms of Angle 60°.
®) Lun Lol ered Un‘fl}‘ suLlew NS écf.b 92 1r}

Prove that, if two chords of a circle are congruent , then they will be

equidistant from the centre.
OR W
8 b L@Ljf Oy P & L B b S 1 A
&by wy

Prove that , if a line is drawn perpendicular to a Radial Segment of a

Circle at its Outer end point, it is Tangent to the circle at that point.
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1-rp: "J

: ey lel
_L[J/LU_;L/CL PRSI dU:/L..«L?_/uc,u’.'u;/uéc_,épédt,r/,\‘l(an- ec-; D,C,B, A=t /1,-. 9, 2
i 20 A ;u',fg./u..,( i S2f Ustastia k!

t 2t question
Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that g

on.
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark In that guesti

f

The Soluhon Set of Equahon ax?-16=0 is : : .é.‘/_"j( 5% -16=0 =l 1/.,.’:
{+a} o {a} © {2} ® 2 & W g
e SHt sl da: @

1! Product of the Cube Roots of Unity is
3 O -1 (© 1 (B 0 (&

2 @
i3
03+(32 is equal to : A 3)

Lil oe«+p © ol -p° @ (ox+p)-20B ()

2
oL P
; : . = .13 s gl rxn A 4ix 35115 @
Find "x" in Proportion 4 : x :: 5 :15 : Do x" A~ 2 x 00 s
3 4 75
= @ = 8=, -
2o ¢+ @ 3 £Ys
v - u_l_ f'
If v=w=k ,then: 2 SEg=k A1 B
2 2 :
u = v2k (D) u = wzk (C) u=vk (B) u=wk [A)
— R is g R e -1 SR B
(x+1)(x-1) i (x+1)(x-1)§

An Identity =4 (D)An Equation =W~ (C) A Proper Fraction /._.z': (B) An Improper Fraction /;2.'_'/.3 (A)

: G637 i
A Set with no element is called : : -‘w‘f A "ﬁ;;: = (@)
‘ Super Set »; (D) Singleton Set E (© Empty Set <>Uv (B) Subset <3 (A)

If ASB then A UB is equal to : et dsAUB I AZB Al (8)

i ANB @® B © A ® ¢ @

: et A S Lo LN X 25

;Sum of the Deviations of the Variable ' X ' from its Mean is always :

Different ¥ (D) Same L=fi () 1 (B) 0 (A)

é’l‘he Spread of Observations in a Data Set is called : : ;ru.- Ki%3 r._,,v:,,“’_r (10)

Range => (D) Central Tendency @¥-/§7r (C) Dispersion &3 (B) Average &+ (A)

If Tan® ={3 then © is equal to : ' 6=  Tme =G A

90 @ & © ® ® X @

)

(11)

rd

i : ;.ruf—-xs.;ﬁuu';uf?};,.%’u’ PP
Line Segment joining any point of the circle to the centre is called ..,.

Radial Segment A5, (D) Radius s (C) Diameter /‘5 (B) Circumference 55 (A)

i F

| : et Fen P LS, Alemnd AL (13)

(12)

‘A Line which has only one point in common with a circle is called of a Circle :
i Cosine of a Circle Cosine ¥ < /) (B) Sine of a Circle Sine ¥ < 7 (A)
i Secant of a Circle Secant § < 7y (D) Tangent of a Circle Tangent € < 7I: (C)
,The measure of the External Angle of a Regular Hexagon is : :‘ga_n Ao & ,___,a;},: L our O (19)
‘ A N A ;
| 20 L 5 ®E 53 an
s u_TZ..)f wuﬂ "y wé.c-_.u:}s » g_:'id}:f J‘AJ—' ,-;% Eg)

A pair of Chords of a circle subtending two congruent central angles is -
‘_‘ Parallel dﬂr‘ (D) Overlappmg J/ (C) Incongruent _;flf/ (B) Congruent J‘,-ﬂ Q)

D 0 D 0 - B B D B D B D D O 0 O 5 O e 0 O < 0 B G B < 0 < € 0 9 b W G . S
B ——
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.:-_ui'r;,y_“;_djug):,f_.,y_gf?ﬁ,yz; (6--6 )Lle/; ;_,uf 43,2 KU';’L:,‘:U)L-" é .::;_l_nl/f' %o
- bnga g 2y Sonbamddv s 13807838 S AL, e/

: i from Part Il
Note : It is compulsory to attempt (6~ 6) parts each from QNo.2,3and 4. Attempt any (OS) questslfix;:l ;:per.
while Q.No.9 .is compulsory. Write same Question No. and its Part No. asgiven in the que

36=2x18 IMake diagram where necessary. -u:lb.u‘ffndu/’ubd (Partl) J)Lﬂ’

-éJ’dfly/l. W 24w

Solve by Factorization. 3y2 =y(y-5)

Solve. k%2 =0 2L G
Define Reciprocal Equation. ey § bl i)
Evaluate. w-13 + w'17 ..gr:l"c—f (iv)

-2,*,_’6:451[/&/) pdl 3 +{2 ) 3-5 Lﬂu v)
Write the Quadratic Equation having roots 3 w2, 3-{2
Zag B Lt 3= 0 eble ()

Discuss the nature of roots of equation 2x:Z - 7x + 3 =0
Z PN NT S S s a b=t L 750, 2259 i)

Express the 75%, 225° as a ratio a b and as a fraction in its Simplest (lowest ) form.

2 .2

Find a Third Proportional to : E o8 5 P-9 _g:-’r,l;ﬂ__,w/_» (viii)
3.3 2 2
P *q P -patq

Find a Fourth Proportional to : 5,8,15 b B0 (%)

y . p x =11 A JJ:’ s AT 7
! Resolve into Partial Fractions. x=4)(x+3) _é AV J/d,z (i) 3A4Jir
Define a Rational Fraction. _’ébg/"' J/Jbt (i)

e xuyYh y={2,4,509}ux={1,4,7,9} 1 i
f x={1,4,7,9} and Y={2,4,5,9} thenfind XU Y.
okt Yxx7 Y={de} s x={ab,c} S v
If X={a,b,c}and Y={ d,e }then find the number of elements in Y x X.

Define a Subset and give one example. “Ze Lty § ,_‘,:-53‘ )
Define an Onto Function. -éuy/"" g ST i)

Find Arithmetic Mean by Direct Method for the following set of Data. 2'*:(:"’1.4!(}(.) € s} stne s Sk (vii)
12,14,17,20,24,29,35,45

Define Class Limits. _z‘:\_u/‘" S 203z i)
Write the name of two measures of Central Tendency. -é_t;rt& Uik £ g@issy (ix
Define Inverse Variation, & used Q) 4 )1

ax=3 BEIf y Iy 24 cax =2 wagd g P x iy

If x and y2 varies directly and x = 27 when y = 4 find the value of "y"when x = 3

What is Sexagesimal System of Measurement of Angles ? Seif (¥ sulA ¥ u‘jlr Sussls (iii)

] ¢ Nadec4
, How many minutes are in Two Right Angles? Stdm 0™ & U Uit o

A .

Convert —5 into Degree. _2; Lt":"' u_fgj} i 78K (v)
Divide an Arc of any length into two equal parts. -’cf;f:w:j-‘.'u:"/.'.e nf il JuLfr (vi)
Define Radian Measure of Angle, _«é‘_‘,/a U’JIJJ 5 i
O - - CLa :‘,J. Vi

- mLB Jnc = Bem wb = 15em, a = 17em Ut ABC et i

In a Triangle ABC, a =17¢m,b = 15cm and ¢ = 18 em , find mZB.

o I N BINE £ pensaptia g (ix)
The Length of the Side of Regular Pentagon is 5cm, what is jtg Perimeter ? )

e i o e o e it e e i P.T.O, ¢
>3 .

e ]
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o i)
= 00 () )
olve the equation using Quadratic Formula. -
I
AN () \-5

«

)

Q)

(€)]

O]

(C))

C))

(8)

(8)

————————— W W W W - w—r - - —— - - 1
- . ——————— - 7 7 ot ot e e g

—

I

N

2 2 s S \ 2
-un o, BT LA el Fus iy ST -3 o =

bl
If o, B are the roots of the equation Ve N
i J

equation whose roots are X P‘

)

+ 0 =0,

{ X- 3y o+ 32
Jaspbed . - L
AN IRAY \ - 37
R\Ys
M N = =
y—2
Using Theorem of Componendo Dividendo
. . =3y \ + 3z i vz
find the value of —— - it X\ = ——
X+ 3y X =3z Y G
& ; 5t I g 1
Resolve into Partial Fractions. =
(x-1)7(x* 1)

¥ U=1{1,2,3,4,5,6,7,8,9,10} , A ={1,3,

- ’ . ’,
then verify (ANB) = AUB

Find Standard Deviation " S*".

9,3,8,8,9,8,9,

Prove that

(Cot6& + Cosec® )( tan® - Sin

st (50K S ERLut Bk i o ¥ ABC 2Ll ()

Inscribe a Circle in an Equilateral Triangle ABC with ecach side of

length 5cm.

-l sl A Unlly & e st L}"i—g £ al) & S i’.vt‘ 9 A e

Prove that any two angles in the same segment of a circle are equal.

OR W

-UZL”“'“;J[.J 7 L Yiiun J‘u—ut F) /U: 0 g,"-..f | L,',/L'J’L« el

Prove that if two Arcs of a Circle (or of Congruent Circles) are congruent ,

then the corresponding Chords are equal.

- 03 —Yyon

5,7,9), 8 =1{2,3,5,7}

18

0) = Sec® ~ CosO

e e et ot i
R i e e o e s

- A 0 Y

;|
|\“"«':— l‘?'-\‘k.c" v (LA '-'wll"‘

o e O<_, P ‘-"l (‘r)

hen torm

e () esU

| -

- 3
6,7.8,9,10 % A1 () 7240

PSSk () s

.[ ‘;_\

SO

- -

L v o o " - - —-—— e e
- o i - -t ot e s |
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